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s ODSEK  |priklopna [DN L(m) st. HP St. jaskov
S1 do CN 250 1340 11 41
Sla s1 200 290 10 15
S2 s1 250, 200 520 32 33
- S2a S2 200 25 4 2
) - S2b S2 200 80 5 6
- S3 S2 200 225 11 12
T ) S3a S3 200 44 3 3
- B S3b S3 200 28 4 3
— - S3c S3 200 169 8 9
7 S4 S2 200 82 8 6
2.1 - 7 | o | ) a ) S4a s4 200 73 10 6
— S4b S4a 200 30 6 3
- S5 Crpalisce 200 188 17 12
5 S5-t S2b tla¢ni 220 0 0
o = S5a S5 200 100 4 7
(W S6 ¢rpalisce 200 112 5 4
TR T
”f ._ - s6t  |s1 tlaéni 340 0 0
A\ 57 trpalidce 200 150 11 6
S7-t S1 tlacni 220 0 0
e SKUPAJ 4236 149 168
SKUPAJ gravitacijsko 3456
SKUPAJ tla¢no 780
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